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ECONOMICS HSSC-II 43

SECTION — A (Marks 20)
Time allowed: 25 Minutes | Version Number (4 |14 [1|
Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 26 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not aflowed. Do not use lead pencil.
Q.1 Choose the correct answer A/ B/ C /D by filling the relevant bubble for each question on the OMR

Answer Sheet according to the instructions given there. Each part carries one mark.

1) If direct tax is deducted from personal income we get;
A Per capita income B. Disposable personal income
C. Personal income D. National Income
2) Which of the following is NOT a transfer payment?
A Taxes B. Zakat C. Scholarship D. Pension
3) What will increase investment in Pakistan?
A Rise in tax rate B. Increase in population
C. Increase in interest rate D Decrease in interest rate
4) The living standard of people in a counfry is measured by:
A Level of personal income B. Wage rate
C. Level of per capita income - D. General price level
5) The ratio between consumption and income is called:
A Average propensity to consume (APC) B. Marginal propensity to consume (MPC)
C. Average propensity to save (APS) D. Marginal propensity to save (MPS)
6) Exchange of goods with goods is called:
A. Barter system B. Monetary system
C. Medium of exchange D. Fiscal system
7 When a commercial bank creates credit, it immediately raises:
A, The exchange rate B. The interest rate
C. The money supply D. The real National income
8) What was the duration of second five year plan in Pakistan?
A, 1950 - 55 B. 1955 - 60 C. 1860 - 65 D. 1965 - 70
9) Economic development means: :
A Development of transportation B. Increase in agricuitural production
C. Increase in real National income D. Increase in industrial production
10) Which of the foliowing is a monetary measure fo control inflation?
' A Increase in Government expenditure B. Increase in Government revenue
C. Increase in discount rate D. Decrease in discount rate
11) Who rediscounts hill of exchange?
A, Central bank B. Agricultural bank
- C. Industrial bank ' D. Commercial bank
12) Basic formula for correcting deficit in Balance of Payment of Pakistan is:
A Decrease in exporis
B. Increase in imports
C. Decrease in exports and increase in imports
L. Increase in exports and decrease in imports
13) Commercial banks discount and advance loans on:
A Pay orders B. Drafts C. Cheques D. Bills of exchange
14) Taxes on commodities are called:
A Progressive tax B. Indirect tax
C. Direct tax D. Proportional tax
18) . Pakistan is ranked as: ’ -
A Developed country B. Developing country
C. Industrial country D. Under developed counfry
16) The largest item on our import list is:
A Consumer goods B. Machingry
C. Petroleum D. Computers
17} In Pakistan, currency notes are issued by:
A. National Bank of Pakistan B.  State Bank of Pakistan
C. Muslim Commercial Bank D. Bank of Punjab
18) In Pakistan, financial year starts from:
A 1st July B. 1st June
' C. 1st August D. 1st January
19} Which of the following is among biggest causes of unemployment in Pakistan?
A. Foreign loans B. Fast population growth
C. Expenditure of government D. High literacy rate
20) What is the MOST important quality of good money?
A Durability B. General acceptability
C. Store of value D. Convertibility
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ECONOMICS HSSC-Ii

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:

Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly. '

Note:
Q3
Q.4
Q.5
Q.6

SECTION — B (Marks 50)

a. Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.

(15 x 3 = 45)
N What is meant by circular flow of National income?
(it Define Islamic Economic System.

iii) What is the difference between inflation and deflation?

{iv) Write any three causes of low investment in Pakistan.

(v) Define economic planning.

(vi) Suggest any three measures to reduce poverty in Pakistan.

(vif) Differentiate between GNP and GDP.

(Vi)  Write any three advantages of paper money.

(ix) Define monetary policy of Central Bank.

{x) What is meant by infra-structure?

(x)  What is meant by Deficit Budget?

(xii) Define Demand pull inflation.

(xiiy  Write any three advantages of Motor way.

(xiv)  What is the difference between ‘Balance of frade’ and "Baiance of payment’?
{xv) What is meant by per capita income? Also write its forrﬁula.
(xvi)  Define Qarz-e-Hasna.

(xvi)  What is meant by Equilibrium of National Income?

(xili) How does Central Bank perform the function of clearing house?
(xix)  Define Induced Investment.

{xx) Write any three merits of direct taxes.

(xxi)  Define Quantity theory of money.

b. Attempt any ONE part. (1x5=5)
(i) What are the differences between Public Finance and Private Finance?
(i) How can mobility of l[abour be promoted?

SECTION — C (Marks 30)

‘Attempt any THREE questions. All questions carry equal marks. {3 x10=30)
Explain different methods of computing National Income.
Discuss the characteristics of under developed countries.
Explain comparative cost theory of International Trade.

Enumerate major probtems of Agriculture sector in Pakistan.
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